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QUESTION 1

The architect plans to recommend an upgrade to Aruba CX switches What is one requirement for the new solution that
justifies this recommendation? 

A. the requirement to support secure IPsec tunneling at the aggregation layer 

B. the requirement to support larger ARP tables at the aggregation layer 

C. the requirement to support smart Rate at the access layer 

D. the requirement to support tunneled-node at the access layer 

Correct Answer: A 

 

QUESTION 2

A mall requires a wireless network upgrade to 802 -Max The company that owns the mall wants to provide the APs for
the entire mall. However, several of the larger national chain retailers with spaces in the mall want to offer wireless
services with their own SSIDs. These individual retailers also have their own wireless guest services and wireless client
devices They have their own corporate infrastructure and want to handle all of this wireless traffic on their own, including
terminating the traffic on their own controllers. The mall requires redundancy for its services, out the retailers do not. 

Which plan for mobility controllers (MCs) and mobility master (MW) meets the needs of this scenario? 

A. a pair of MMs for the mall company, but not MCs: MMs control one MC for each retailer with its own SSIDs 

B. two MCs for the mall company and for all of the retailers, both controlled by the same pair of MMs 

C. two MCs for the mail company controlled by a pair of MMS; one standalone MC for each retailer with its own SSIDS 

D. two MCs for the mall company and one MC for each retailer with its own SSIDs, all controlled by the same pair of
MMs 

Correct Answer: A 

 

QUESTION 3

Refer to the exhibit. 
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The network architect has created the 60M shown in the exhibit tor a complete new wired ana wireless solution for a
customer. This solution the customer wants to discover and manage every component or the network in Airwave,
including twins, MCS, APS, and switches. 

How many AirWave licenses dees the architect need to add? 

A. 30 

B. 222 

C. 7122 

D. 6930 

Correct Answer: A 

 

QUESTION 4

A company has several remote sues that operate more or less autonomously. Each site has ns own local services
andInternet connection However the company does have a main office with a few centralized resources that the
company would like to make available to remote office employees over the Internet connection. Sites range in size and
require between 10 and 20 APs. 

The customer requires the most cost-effective solution that meets the requirements. 

Which solution should the architect recommend for each remote site? 

A. Campus APs (CAPs) with a local MC that has an SD-WAN license 

B. Remote APs (RAPs) with IPsec tunnels to a main office MC 
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C. an IAP cluster with an IPsec tunnel to a main office MC 

D. Campus APs (CAPS) with CPSec control channels to a main office MC 

Correct Answer: A 

 

QUESTION 5

A customer has multiple medium and large branch sites, eacri of which requires between S ana 16 APs and supports
between 200 and 600 wireless clients, Every branch site has an Internet connection, which it uses to reach the central
data 

center. The customer would prefer the WAN links to be optimized in the solution. 

Different use cases require SSID\\'s for tunneled traffic from remote sites to central location, traffic that must remain
local on the remote site, and traffic which would need to egress out from remote site Internet connection. 

Which branch office solution best meets the customer needs? 

A. lAPs with Aruba central 

B. RAPs and branch office controllers 

C. IAPs with branch office controllers 

D. CAPS and branch office controllers 

Correct Answer: A 
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